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Question No.1

Tt It ATl Xeg HIH-TT 82
TE AT qTel Weg, PHIF-1 82
(A) O ™y
AR
(B) O &
AT
(C) O gaRT (Correct Answer) (Chosen option)
AR
(D) O HaE
Il

Question No.2

ORI el R for & B 1 R areit bl fm = 82
ORI el QRepR v & B ol v ATt bl fom e 32
(A) O FH-ga

-G
(B) O fogm

fagm
(C) O fRrafm (Chosen option)

fRrefm
(D) O U=SIET (Correct Answer)

LECIIRGI

Question No.3

T § SRYCY Vet HT g WY 3 g pI-A 32
ST 9 31gey TeE BT el WY I T P 82
(A) O aif¥r + 3T (Correct Answer) (Chosen option)
3 + 3T
(B) O 3y +3cg
3Y + 3T
(C) O apft+ 3T
3nfi+ Iea
(D) O 3+ Iey
39 + 3T

Question No.4

I R Y S HT U TR B 17 — 39 I H o YR & fohanfa=ivor &7 v gan g2
R 1R T S HT IR T B 1 — 39 a1 T b UBR & Hanfa=ivor &1 uan gan g2
(A) O RJMArEI® (Correct Answer)

RIFETES
(B) O wrear®d

HTAAEIR
(C) O uRHAmEES

giRHTOTaTS

(D) O Hfdame® (Chosen option)
RUGCIER

Question No.5

HRA & TYH HoAt {5 Ifafa &t sremerdr ora 82
HRA & gy w2l g Iftifa @t sremerdr #va 22

(A) O TR IeTHIYT Hrafaa- afdfa, 72 foech
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(B) O ety &t Affifa (Correct Answer) EXAM PREP
Harg fEd wfufa

(€) O duda s iHfd
RRHERIE NI B

(D) O fay fegdt IfAfd (Chosen option)
farey fet wfarfar

Question No.6

W A g5 TR W B 1 - 39 I B AT {59 YR 1 fomanasivor 82
WS A g8 R W 81 - 39 a1 B AT 5w YR 1 fomanfasivor 82
(A) O wraarE® faTfa=IuT (Correct Answer) (Chosen option)

CIREIEED
(B) O wHara® ferama=mo

YFar® fHaTaRIyor
(C) O Hfcare feraragivor

Sfcaras fearfaRivo
(D) O ufHTUrEaTae feanfagyo

gRATIETE® ferarfaRyo

Question No.7

IR gTfdeh WHT 1" — 39 a1 | HI-I1 PRSP 82
TR BTféh WHT|” — 39 a1 H HIH-I1 PRSP 82
(A) O IdY HRb
TaY PRP
(B) O 3HfIH0 HRF
JHfIHI HREB
(C) O W&y BRP (Correct Answer) (Chosen option)
TaIEeF PRS
(D) O 3(UIGH HRP
3T HREB

Question No.8

URATE 1 AT e HI1H-91 872
HTRATE HT fIA Weg H1H-T7 82
(A) O 3T
3
(B) O ATGYT (Correct Answer) (Chosen option)
LICKIE)
(C) O fagm
faym
(D) O 3RdrE
3TRATE

Question No.9

Houdiaed Y TR auf BT IeTeR0 HIH-T7 872
FHegarasd < WR Ul HT ISTER0N HH-IT 32
(A) O T (Correct Answer) (Chosen option)
T
(B) O an
3
(XGRS
3
D)O =
EN

Question No.10

RR IoHI- 39T arad 1 872

RR IoMI- 3T drd @ 82

(A) O gredt g1
RIERIEEEI

(B) O =B
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(C) O a9 FH=AT (Correct Answer) (Chosen option) EXAM PREP
Rty s

(D) O o1 b1 ANT HAT
TSI BT AR HAT

Question No.11

‘Implicate@wiide) Weg &1 fid! uafg &H-a1 82
‘Implicate(3&fie) Teg H1 f&d Tafa P-a1 872
(A) O mffad ST (Chosen option)
HTffad HRAT
(B) O wH™SH
TS
(C) O wAMT (Correct Answer)
AT
(D) O yeanr
UGN

Question No.12

A Ap! BT Tl — 39 TR & T e Weg HH-41 52

A= pt 1 T — 39 TN & oY e Weg HH-41 82

(A) O felt®l (Correct Answer) (Chosen option)
[EGIEDN

(B) O it
gt
(C) O Bt
e
(D) O Fryad
e

Question No.13

YR PR & T8 HATTT & dgd DI--91 faqTT 82
YR PR & 76 HATT P dgd HH-TT [aHTT 32
(A) O ISTHTST faAHTT (Correct Answer) (Chosen option)
IS fIUTT
(B) O I=aR e faumr
JaeR g fawm
(C) O faurdt favmr
faemdt favmr
(D) O wifg 3rpreH!
e STt

Question No.14

S wfer, avg o oRRURE Rt 41dt o SET a1 S Bl § I HH- T < S /2
o St g a1 uRTRufaT it Hrdl oY SETu a1 SId BRdl § I -8 Wil € Wt 872
(A) O f3uTd (Correct Answer) (Chosen option)

fura
(B) O o

SRGIC]
() O Tt vig

GEIRRYG]
(D) O wyrdt UG

RER UG

Question No.15

TR e H H1H-91 U §?

TR e B -1 T 82

AO =&
2

(B) O g (Correct Answer) (Chosen option)
TH

©)Ow
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(D) O B
ERCY
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Question No.16

AT Yeg, H HIH-T1 JH 87
TASIAT g | HH-91 THY 872
(A) O ggga™
FERiIn
(B) O d¥Y THI (Correct Answer) (Chosen option)
qAYSY qHH
(€) O vgsife gu
CREIRRSEIR
(D) O fgp o™
T

Question No.17

U TRTd & BT G g, 37 & ofd Y T e | ST BIH-T AR g2
U TRTd &Y BTy G4 g, A7 & ofd TN T e | TTH BIH-T SABR 872
(A) O wus

UG

(B) O 3ifa=maifa (Correct Answer) (Chosen option)
Sffereraifea

(C) O 3den
[ o]
(D) O 3udr
SYUHT

Question No.18

T & Bla B &2

i & B B 82

(A) O R Foret
RNECERERIG]

(B) O garia At} ARl (Chosen option)
Tieid FAudt fARran

(C) O vuxieR yuTG
ERRCRE°RICS

(D) O gftATe Uud (Correct Answer)
gimTeT ud

Case Study - 19 to 21
3 " g Ugx AU Y waral & WEl a9 g -

1T T QT Ui e § foraesT fmfor Sva T8t | o & SRR Sffas Sva gt & | 9ot 1 741 Uferd 1T Ot @ &1 g9 § | 9ol IR IJuds 5id &
e 8 | A 3 ufawa 5w € iR divg B, o @ 2.4 ARER 3R I 9 Rl g o St g €, W 0.6 wfasra ur € A, iet ofiR arera 7 ¢
STIR Gt R $f 32 FRIS 60 ARG WS e Ul § | G2t & Weg i T 70 T YR Ugfvd &)
for foia &1 fawg o1 gon § 1 311 81 & IR aTerusy &I RUIE e 3ifth & aegy drex 2018 : & dle}
3t ot 95 I <N =M H ¢ 5T SaTel & U o fow & U Wed Wi Iuas el ¢ | Rl # e § b g, goR, Wi, WRd SR i
B g & TR A T 3fAF A Y WS oI U e | 3T YR H 16.3 RIS AN dp g ol &1 Ugd Tl § |

&, TorgeT 30 Ufcr=rd HT fwTed €1 g1 ¢ | 31
' T gl T fob URA A 3T ANR® ! &1 Ugd &

Question No.19

I o G P TR PIF-91 HUF el 82

IH 3 & & IR HH-IT HYH Tg1 82

(A) O &d U U1 R-UTpfads Tare § forge fmtor dua =&t
T U U1 IR-UTehfaes S § forest fmfor gva =g

I TP AT Ui ware g g fafor dua F&t
(C) O I Ush T Wishfaes T § forast fmfor Iva 31
T U U1 Wi faes e § forest fafor gva g

(D) O I Teh AT TR-UIghfaidh ST § forest Fafor e g1
A U U1 IR-TTepfae SameH g et fafor gva g

(B) O o1& U U1 WIpfae |1 & foraet fAufor wHa €Y1 (Correct Answer) (Chosen option)

Question No.20

37 o G B ATIR -9 BT Tel ALl 32
https://upprpbcivil.onlineregistrationform.org/QP4/dY mXAKO8xEX7in5ATBoXGw==.html

4/40



12/10/21, 4:58 PM View Question Paper (]
IH 3 & P TR HH-TT HYUF Fal ol 872 E BYJU S

(A) O gt TR Iudey STt T 97 UfI=Td HIT WRT & EXAM PREP
Tl TR IUAK W BT 97 AT HIT TR B

(B) O U 3HM F TIR Gt R FT 32 HRIS 60 ARG TR e Tl g
T A & 38R &l R $d 32 HRIS 60 TR TR Aa U 2

(C) O g} %1 79 Ufa=Ta YT Ut | ST 3T 81 (Correct Answer) (Chosen option)
gt T 79 Hfa=ra URT Ui A g1 g3 B

(D) O 3o et R Hid o BT IuTRIT BT Yave [3% & oy foiem &1 fawg s gan g1
31l gt R S oIt Bt Judsud &1 W 3y & fare fofar &1 fawg s gan g1

Question No.21

TS WA # e AT O =0 oIt $) Ug d el 87
TS YR H fard= AT b W3 oA 1 Ugd el 872
(A) O 97 yfa=rd
97 Ufa=ra
(B) O 3288
32 TS
(C) O 16.3 WIS (Correct Answer) (Chosen option)
16.3 BRAS
(D) O 71 wfd=rd
71 Ufawa

Question No.22
HTT-STeR-faR- 37 IR § ¥ frae Whfe 2eg 82
YTST-S-faR- 37 IR & I ) Wi wrsg 82
(A) O 4
4

(B)O 2
2

(C) O 3 (Correct Answer) (Chosen option)
3

(D)O 1
1

Question No.23

A B 7 ORE T— 39 Aiepifad o1 orf 82
A o 7RG T— 39 dipifaa &1 3 71 872
(A) O MUY (Correct Answer) (Chosen option)
g
(B) O R &M H qhard
WM T qHad
(C) O forg & mrfeR
o & AnfeR
(D) O &t ot fmdt # g
R e ot = & g

Question No.24

9 ¥ PH-I1 Tsg TS Weg, &1 31 T 272
9 q PH-IT Uec W6 Ueg b7 37 7Y 872
(A) O g

(B) O e
SEHL
(©) O faBRr
faor

(D) O =& (Correct Answer) (Chosen option)
BCac|

Question No.25

T UGT - Tt T 3ref R 82
I UeT - Gtk &1 31 82
(A) O =TT seT

TS T
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(B) O &= &l E B 'J U S

T EXAM PREP
(C) O Tas WRaHT (Correct Answer)

TP g1
(D) O =1 BT (Chosen option)

g gl

Question No.26

qorT, 3y, g9 onfe Uiat & e R aTd Weal & A1y 3y forg o1 v fasan Sirar 82
qorT, 3, g Snfe Hral o1 sgad B a1l Weal & Wiy b farg 1 vt fopa sirar 82
(A) O I g

Il fog
B) O »I§®

DD
(C) O fawmanfeaie® fIg (Correct Answer) (Chosen option)

fawmafeaiys fg
(D) O 3 farm

31 farm

Question No.27

3T P MBI H dla’ P1od P P 1T AR TS DI DIF-H1 REBR U g2
“3IUT P BT H Tie’ B Fid F T Remer S B HH-I1 REBR U gon?
(A) O fffedt REHR
Hcled PR
(B) O wifee 3rpTetil [RIFR (Correct Answer)
Hifgd IBTEH REPR
(€©) O JHYIS GHR
NS REDHR
(D) O U™ ™M (Chosen option)
T G

Question No.28

T8 § BI-9T Teg *3M[3MT BT TaTId e T 872
T | HH-IT Teg, ‘33T T UgfaaT Teq T 82
(A) O @R

TWIR
(B) O apyuft

3RTOR

(©)O Hfear
i@

(D) O o1& (Correct Answer) (Chosen option)
YTed

Question No.29

fatrfer &1 Tet W3 g B g?
Tiqreifer @1 el - T HE-ar g
(A) O fiai+sifer
Mai+sifer
(B) O fiar+asiseht
Tiar+sictett
(C) O fiar+siwifer
Tiar+sisfer
(D) O fiq+3iSIfeT (Correct Answer) (Chosen option)
a+siwfer

Question No.30

Tiiq aTell A PR g B 1 b1 - 39 a1 | ey 6y UeR &1 febafagivo g2
“Tifq aralt A R a8 B 1 a1 - 59 areg o ‘fias? frg UeR &1 fharfagivor g2
(A) O wyFaTa® forafarivo

RIMAID fhaTaRIyor
(B) O FIcarad fopanfagivor

BT fohaTaRITo
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(C) O uRHmEMES fharfaRyo BYJ U S
gfRHTvEarS

PR EXAM PREP
(D) O difearae fFATfIRTT (Correct Answer) (Chosen option)
Sforaras farfagiaor

Question No.31

“IRHMR $3I 57" - T6 ¥ UPR 1 a1 g2
“IRHMR $8l 87" — T8 69 YR &1 a1 872
(A) O ddqars I

Hebaarrs I
(B) O fayrarms ared

faemara® a5

(C) O fuyar® a1
e T

(D) O yydaraed aIRI (Correct Answer) (Chosen option)
LECICCAGIC]

Question No.32

TFTER QRIVT &' | - 39 IR H *S(FTER 59 UHR &1 [IRIwo 52
PTG RV | - 3 a1ag | *3APTER by bR BT faRmor g2
(A) O ufkHToraras fagmor
URHATaTES faRwor
(B) O Turarae fa=iwor
TUraTa TR0
(C) O Fwmarae® fa=Ivvr (Correct Answer) (Chosen option)
A fa”ivor
(D) O gt faiwor
it fa=mor

Question No.33

e fHg UTST BT P 82
e fBd HIST 6T BT 82
(A) O ugrel
ugTS!
(B) O Bt (Chosen option)
Afdrelt

(C) O 3@t (Correct Answer)
3rqeht

(D) O o=y
ISR

Question No.34

TR WG BT dGd T DHIF-91 82
HIR Teq, BT dogd BT HH-T1 872
(A O oz

TRt

(B) O #zdr
ECK|

(C)O Ha
S|

(D) O #H=3Y (Correct Answer) (Chosen option)
HSY

Question No.35

TTH ¥ HH-U U YRl WA ST oadl syt & =i el 872
0 q DHIF- U YR e B sadt s # =i T8 82
(A) O durert

TTeft
(B) O mrdt

RIS
(€) O nfdrgh

aforgd
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(D) O #EY (Correct Answer) (Chosen option) BYJ U S
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Question No.36

T Q BH- 4T SfaS UfkaR Bt HTeT T 32
TTH ¥ HH-UT YT 5fIS uRaR &t v T8 82
(A) O %&F (Chosen option)

(B) O @t (Correct Answer)
@Rt

(C) O HerTreH
RN

(D) O ®ds
IS

Question No.37

Ao fay R aa fore af Sud gan ur?
o fay ) wer v o wuw gam am?
(A) O 1983 (Correct Answer)

1983

(B) O 1993
1993
(C) O 1999
1999

(D) O 1996 (Chosen option)
1996

Question No.38

for Tor & gd ug 3/ g, @) 98 {5y USR &1 I0 HEardl 52
fora T 7 qd ug ooy g1, Y 98 fod TR &1 TH HEardl 82
(A) O wgsiife gar

Sgsiife TAT
(B) O gy vu

[EURSEIR]
(€) O wHyRY TO™

FHUYRYT T

(D) O arardftyTd FHRT (Correct Answer) (Chosen option)
SERTUTT T

Question No.39

1 T SgaTe R Fl R Ryd 872
1V 3aTe e el W R 77
(A) O arroRit

RTOR

(B) O AW (Correct Answer)
e

(C) O P
CARCARI

(D) O = fawe® (Chosen option)
% feredt

Question No.40

T QS 39 eI &1 oY T 82

T " GSHI 4 geToR T orf T 82

(A) O grm

BRAT

(B) O BRI (Correct Answer) (Chosen option)
&R

(C) O St

ST

(D) O fSamT

ISGIE]

BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE - BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE
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Question No.1 EXAM PREP
Which of the following institutions has released the Emissions Gap Report 20207
frafafed & @ frw TR 3 ofire o RoiE 2020 IR &1 82
(A) O Worldwide Fund for Nature
T g Rsedt Bl
(B) O United Nations Framework Convention on Climate Change (Chosen option)
SIefarg URad R YR I Had HaT
(C) O United Nations Environment Programme (Correct Answer)
HYeI 3T qafaRor
(D) O Intergovernmental Panel for Climate Change

TAdrg uRad IR ScR-TRBRY

Question No.2

In which one of the following subjects, both the Parliament and the State Legislatures have authority to make laws?
frofofed 7 3 fora fawa &, Tug ofR Isa faurea i &1 S o1 &1 SR 82
(A) O Criminal Law (Correct Answer)
BT
(B) O Agriculture

(C) O Atomic Energy
TRAT] Sl

(D) O Futures Market (Chosen option)
EIRHICISIN

Question No.3

As per the census 2011, what is the literacy rate of India?
2011 BT STUAT & STIR, HRA PI WERAT 2 T 82
(A) O 54%
54%
(B) O 64%
64%
(C)O 84%
84%
(D) O 74% (Correct Answer) (Chosen option)
74%

Question No.4

State Council of Educational Research and Training (SCERT), Uttar Pradesh was established in which year?
7T Aferes S SR Ui uftyg (ot £ .emE), IWR U &Y W ford aff A Y 718 ofi2
(A) O 1986
1986
(B) O 1981 (Correct Answer) (Chosen option)
1981
(C) O 1990
1990
(D) O 1975
1975

Question No.5

In which state the President rule was first imposed in India?
HRA & b o0 | I _Ufdl AR Fard Ugel ST T T2
(A) O Maharashtra

HeRT

~

(B) O Kerala
R

(C) O Gujarat
TSR

(D) O Punjab (Correct Answer) (Chosen option)
LEiC)

Question No.6

Which industry is referred to as the backbone of modern industry?
o ST oY 3y I &) fig Het ST 82
(A) O Cotton Textile

el s
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© 0 e E BYJU'S

x EXAM PREP

(C) O Iron and Steel (Correct Answer) (Chosen option)
3R 5T
(D) O Tea
gl

Question No.7

At present how many Indian states have Fifth Schedule Areas?
AT H fobem HRdra Ioa & diedt srgEt b & 82
(A)O 8
8
(B) O 5 (Chosen option)
5
(C) O 10 (Correct Answer)

10
D)O 6
6

Question No.8

National Agricultural Cooperative Marketing Federation of India Ltd (NAFED) comes under which ministry?
YR 1 T P TeHRI fauvH w9 fiffies (@.0.uw 3 Eh) fd Hareg & ofafd ol g2
(A) O Ministry of Rural Development

I faepT HaTerd
(B) O Ministry of Agriculture and Farmers' Welfare (Correct Answer) (Chosen option)

STl HATAd

(C) O Ministry of Science and Technology

fm ok AT
(D) O Ministry of Commerce and Industry

IR 3R FENT HaTer™a

Question No.9

In which year the National Company Law Tribunal was constituted in India?
HRA H I T S ST AR BT 713 el g3 UT?
(A) O 2016 (Correct Answer)
2016
(B) O 2019
2019
(C) O 2010 (Chosen option)
2010
(D) © 2000
2000

Question No.10

Which Portuguese ruler abolished Sati in Goa?
T3 gl -ITIe A T1aT & Felt U7 1 g1 foar o2
(A) O Pedro Alvares Cabral

SHEIRY

(B) O Vasco Da Gama
IRD! ST M

(C) O Afonso de Albuquerque (Correct Answer) (Chosen option)
SIS

(D) O Francisco De Almeida
iRkl S sfeST

Question No.11

The Supreme Court in the case of had struck down Section 66A of the Information Technology Act, 2000.
JEqH ATy - F T B gI1 Uenfiest SifAfm, 2000 FT URT 66A BRI & 3@ A1
(A) O Selviv. State of Tamil Nadu
Jed! I qfferg T4
(B) O Indira Sawhney v. Union of India and others
o1 ATET S YRd T9 SR o=
(C) O Mithu v. State of Punjab (Chosen option)
firg ST goTe o
(D) O Shreya Singhal v Union of India (Correct Answer)
o1 Rige 999 YR 6
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Question No.12 B ' J U S

The maximum period for which any person may be detained in pursuance of any confirmed detention order under the aticﬁal ygecMy K:R!%Fb
1 Yo qRef ifAfEm 3 ded feht i RfEa PR snew & srgaRur et +f safad &) for sifieaw srafYl & fore g foran o waver §, @
(A) O Three months from the date of detention (Chosen option)

Ry &1 fafy 3 i 7

(B) O Eighteen months from the date of detention

Ry B R_IY J oioRe 7R

(C) O Six months from the date of detention
Ry 31 fafy 3 o8 76

(D) O Twelve months from the date of detention (Correct Answer)

Rty =t fofyr @ ave Wl

Question No.13

Who was the Governor -General of India during the 'Revolt of 1857'?
1857 & fASIE & SR URA & Ta-R-9-RdA DI A?
(A) O Warren Hastings

AR g™

(B) O Lord Canning (Correct Answer) (Chosen option)
ars i

(C) O Lord Mayo
dls war

(D) O Lord Cornwallis
TS Di-arerd

Question No.14

The State Monitoring Committee for Rehabilitation and Resettlement is constituted under of the Right to Fair Compensation and Tr
Rehabilitation and Resettlement Act, 2013.

AR 3R G & fore Irsg ARt affa &1 e Y siftrreor, grafe oik gaufoe siftifaam, 2013 & Ifad gamast ok urefRfdar & Sifier ot
(A) O Section 50 (Correct Answer)
YIRT 50
(B) O Section 48 (Chosen option)
YRT 48
(C) O Section 52
YRT 52
(D) O Section 55
YRT 55

Question No.15

Which former Chief Justice of India remarked that "if all the Directive Principles are |mplemented well and fully carried out, can make our country ir

HRA & g gd g <grndie ) fewoft § 3 afe wvt femie ol o1 srest ave e fasan S 8k G%?I‘{UTHT@[W@TCITW @ BURT SR 39 &RT
(A) O Dipak Misra
fue firen
(B) O Sharad Arvind Bobde (Chosen option)
TRG 3Rfdq Aes
(C) O T.S. Thakur
EREAGIER
(D) O M.C. Chagla (Correct Answer)
Ty, Y. ImTen

Question No.16
Which of the following Schedules of the Indian Constitution contains the provisions regarding emoluments, allowances, privileges of the President
YR W™ &1 Fa o 9§ e oyt o wRa & 1 _ufa &t aRafer, wmt o oy sifiieRi &1 3w 52
(A) O Fourth Schedule
drf
(B) O Fifth Schedule
Oradt

(C) O Second Schedule (Correct Answer) (Chosen option)
fada

(D) O Eighth Schedule
33t

Question No.17

Who was the chairman of the 'State Reorganisation Commission' constituted by the Central Government of India in 19537
1953 ®, YRA BT Hg PR gRT TSd g G 6 SATIRT & fege] Hi 42
(A) O Fazl Ali (Correct Answer)
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(B) O H.N. Kunzru (Chosen option) EXAM PREP

(C) O K.M. Panikkar
&.TH.

(D) O T.N. Seshan
CACRNC]

Question No.18
Biochip is the main electronic component in which generation computers?
I g fifl & s A gersa 1A gesh 872
(A) O Fifth (Correct Answer) (Chosen option)
gradt
(B) O Fourth
drft
(C) O Second

(D) O Third
dat

Question No.19

Which of the following Social Networking Sites is designed solely for the purpose of "Professional Networking"?
frofafad & 3 SH- Were Sl gge Bad "WhRHd JeafhT $ I ¥ fiwied (FeemgT) 31 18 82

(A) O LinkedIn (Correct Answer) (Chosen option)
(B) O Signal

Rywra
(C) O Viber

CIEER
(D) O Facebook

Question No.20

Unauthorised copying and use of computer program that infringes intellectual property rights is called as .
HIR F SFRIPd THd R ITANT, ot Sifed Tuar ERT 1 Ieeed il §, 39 FEd
(A) O Data diddling

3 .

(B) O Software piracy (Correct Answer) (Chosen option)
(C) O Hacking
GEal

(D) O Cracking
Eacal

Question No.21

Which of the following ministries announced the ‘National Investment & Manufacturing Zones (NIMZs)’ policy?
frafafed & @ frw mareg 3 <1 T 9w ok fafmior & (NiMzs)y @t <ifa 3 o 3
(A) O Ministry of heavy industries
HIRY JENT HATe
(B) O Ministry of Home Affairs
T8 HAT™
(C) O Ministry of Commerce & Industry (Correct Answer) (Chosen option)
TIfOred SR FeIRT HATerd
(D) O Ministry of information and broadcasting
AT 3R YIROT HAT6T

Question No.22

Which event in Buddha's life is denoted by the term 'Dharmachakrapravartana'?
T & SiigH B {5 g1 &l Asgug ‘yiamyad- I aRuid fasar s g2
(A) O Death

LS

(B) O Enlightenment (Chosen option)

(C) O Birth
S

O
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Question No.23

Income tax is

TR, H

(A) O A half yearly tax on income

ST WR 3 Eay

A monthly tax on income

3T W T HIRTD B

An annual tax on income (Correct Answer) (Chosen option)
AT R TP S B

A quarterly tax on income

3 R TH FATRYD BT

B) O
() O

(D) O

Question No.24

The constitution of State Pollution Control Board is laid down under
T UgyoT g
(A) O Section 3
YRT 3
Section 7
YR 7

Section 6
YRT 6

Section 4 (Correct Answer) (Chosen option)
URT 4

(B) O
€O

D)O

TS BT 7o+, ST (UGN Bt AT 3R F=0n) sifafam, 1974 Bt

of the Water (Prevention and Control of Pollution) Act, 1974.

¥ ded Ruifa gan gl

Question No.25

(A) O Article 14 (Correct Answer) (Chosen option)
3 " 14

Article 19

37 "G 19

Article 17

37 "G 17

Article 21

37 “q 21

B) O
() O

(D) O

Which Article of the Indian Constitution states that "the State shall not deny to any person, equality before the law or the equal protection of the law

YR Tfaus & ford off g & Ifcared & 5 <o, yRdha &3 & siavfa fordt oft safaa o1 fafd & et o o fafdy & e WRer @ dfed et @

Question No.26

An RTI application can be made in :
A) Hindi

B) English

C) official language of the area

TS RTI (3RCIATS) SHde Ay § fasar o Ta 8:

A,B and C (Correct Answer) (Chosen option)
AB 3R C

BandC

B3R C

(C)O A
A

(D)O AandC

A3RC

Question No.27
Enhanced punishment on subsequent conviction is provided under

Section 3A
YRT 3A

Section 6 (Chosen option)
YRT 6

Section 5 (Correct Answer)
YRT 5

Section 3

A) O
B) O

© 0

D)O

https://upprpbcivil.onlineregistrationform.org/QP4/dY mXAKO8xEX7in5ATBoXGw=
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Question No.28

The Ninth Schedule was introduced into the Constitution of India by

At SR BT RT YR wfaer & o=y fosar mam

(A) O The Constitution (First Amendment) Act, 1951 (Correct Answer)
Tfyur (wyw F=neE) Sifaferad, 1951

(B) O The Constitution (Forty-fourth Amendment) Act, 1978 (Chosen option)
e (aareiaal ¥l sififam, 1078

(C) O The Constitution (Twenty-fifth Amendment) Act, 1972
TR (T=itaat g=iem) sifdfyaw, 1972

(D) O The Constitution (Forty-second Amendment) Act, 1976
Ty (Sareaat g=iem) sfifyaw, 1976

Question No.29

The Universal Declaration of Human Rights was passed by the General Assembly of the United Nations on
TG T FETIHT §RTHMG SRBRI &1 WraHs arwon &1 uifd &1 7T o
(A) O October 10, 1948
10 3 _SX 1948
(B) O December 10, 1948 (Correct Answer) (Chosen option)
10 eI 1948
(C) O December 01, 1947
01 fadeR 1947
(D) O August 06, 1945
06 3Tk 1945

Question No.30

The terms "socialist", "secular", mtegrlty were added to the preamble through:
T B TS, Raer, SR TGUS] & fhdas ATeqd I et 4T UT?
(A) O 44t Constitutional Amendment Act, 1978

443 Tty Mo SR, 1978

(B) O 45t Constitutional Amendment Act, 1980
453 FayT-e T=NeA Sifafad, 1980

(C) O 42" constitutional Amendment Act,1976 (Correct Answer) (Chosen option)
429 et T=nee sifufer, 1976

(D) O 431 Constitutional Amendment Act, 1977
433 Taue e Sifdfam, 1977

Question No.31

Which sea is characterised by the increased salt content in it that makes the swimmers float on this sea waves?
D Y AR B 39 & 7¢I g3 g0 Il I ifyaferd fvar siram & o sRur aRies (RaR) 39 9 &1 @6 IR oRd 872
(A) O Black sea

Pl IR
(B) O Red sea

ol IR
(C) O Dead sea (Correct Answer) (Chosen option)

Hd 9T
(D) O Caribbean sea

RIIRIES

Question No.32

Uttar Pradesh sends members to Lok Sabha.
IR TS A TR AHTHT & fore g 1 B
(A) O 110

110

(B) O 90
90

(C) O 80 (Correct Answer) (Chosen option)
80

(D) © 100
100

Question No.33

Which among the following institutions is a Non- Constitutional body in India?
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g 7 9 HH- g, YRA § sriauTe e g2

(A) O Finance Commission

(B) O Union Public Service Commission
Y ©lich T ST
(C) O National Human Rights Commission (Correct Answer) (Chosen option)

T T AFEIRSR SmanT

(D) O Election Commission

BYJU'S

EXAM PREP

Question No.34

Which of the following countries signed the pact of the Bonn Agreement, 20017
frofafed & § forw < 3, 917 Smeian, 2001 3 T R ER foar g2
(A) O Nepal
ure
(B) O Afghanistan (Correct Answer) (Chosen option)
ST
(C) O Pakistan
BlEZSIE]

(D) O China
Eikl

Question No.35

Which of the following is a persistent depressive disorder?
T TF A AU fIHR HH-41 82
(A) O Dysthymia (Correct Answer) (Chosen option)
fawvorRar (fewursfirsm)

(B) O Gout
e
(C) O Lupus
THRIT

(D) O Arthritis
o=y

Question No.36

The common law principle of ignorantia facti doth excusat, ignorantia juris non excusat is reflected in

YRAG dS Glearadr

T ) ST &1 A B B, TRed I BN SR & A ) 8, I8 W e Rigid,
(A) O Section 76 (Correct Answer) (Chosen option)
YRT 76
(B) O Section 34
YRT 34
(C) O Section 132
YRT 132
(D) O Section 196
YRT 196

of the Indian Penal Code.

& uRaféra giar 81

Question No.37

What does the writ "Mandamus" literally mean, which is issued by the court to a public official asking him to perform his official duties that he has f:

AT gRT ) TR it o) W’} fbT oM a1e TRAR T A1 &1 ardfde 3 o1 gidT 7, forad 38 39 3BTRS Hadl

IR
(A) O We Command (Correct Answer) (Chosen option)
BHRT
(B) O We Forbid
FHaffa a=a &
(C) O To have a body
fbeht 1 TR U=1 BT
(D) O To be Certified
PEIUREEIRIY

T UTeT B

Question No.38

Functional segments of DNA are called

3TN & s dsi &) ESIGI
(A) O RNA
R.TAT.

(B) O Genes (Correct Answer)
e

https://upprpbcivil.onlineregistrationform.org/QP4/dY mXAKO8xEX7in5ATBoXGw==.html
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(D) O Glucose

Question No.39

Which Article of the Indian Constitution provides that "No person to be ineligible for inclusion in, or to claim to be included in a special, electoral roll
sex"?

YR Wfay™ & forg o g & I ¢ b od, gaawr, snfa, srar fimm & snyR R $is +ff aafaa famiy, fafem amomach & wnfira 89 & foe ar wnfly
ST g g2
(A) O Article 329
37 T 329
(B) O Atrticle 328 (Chosen option)
3] @328
(C) O Article 324
3] "a 324
(D) O Article 325 (Correct Answer)
3 325

Question No.40

Under the Motor Vehicles Act, 1988, the term "stage carriage" means a motor vehicle constructed or adapted to carry excluding the
Tex I AT, 1988 & T8, "Rl RS Weg, BT 34 § Th U7 Hiex a1 O e 1 Blsh ! oy W g8 & forw fAffa ar o
(A) O More than six passengers (Correct Answer) (Chosen option)

B ¥ iftre arfar
(B) O More than sixteen passengers

RISASRCIRCRER]

(C) O More than ten passengers

CRRCIREZR PR

(D) O More than twenty passengers

&9 9 3if¥e gt

NUMERICAL AND MENTAL ABILITY TEST - NUMERICAL AND MENTAL ABILITY TEST

Question No.1

For three consecutive years, the costs of a product were Rs.138 per litre, Rs.276 per litre and Rs.345 per litre respectively. If a common man spen
on that product, then what is the average cost of that product per litre for the three years? (In Rs.)

T T anf & T, Te IdTE &1 I HHR: Rs.138 R dieR, Rs.276 U dlieR 3R Rs.345 Ufdl e o1l afg U 3me seHt 59 3dmg W aivgaA
ot & fory 39 IdTe BT U e S I 1 ST (Rs. H)
(A) O 215.89
215.89
(B) O 221.89 (Chosen option)
221.89
(C) O 217.89 (Correct Answer)
217.89

(D) O 219.89
219.89

Question No.2

Find the sum of the G.P.:
3/4, 3/16, 3/64, 3/256, ... to n terms.

& 77 iR Aoft T AT F1d I

3/4, 3/16, 3/64, 3/256, ...n UG AP

(A) O 3/4(1-(1/4M))
3/4(1-(1/4M))

(B) O 4/3(1-(1/4M)) (Chosen option)
4/3(1-(1/4"M))

(C) O (1-(1/4M) (Correct Answer)
(1-(1/4"))

(D) O a/5(1-(1/4M)
4/5(1-(1/4"M))

Question No.3

A shopkeeper sells two bags for Rs.5500 each. On one, he gets 25% profit and on the other he gets 25% loss. Find his profit or loss percentage fc
T GHMSR &l $ Bl Rs.5500 YD & G TR 97l 81 Th W I 25% HT A1 Sial 8 G IR I 25% 1 g1 gicll &1 T e B @ a1 g1 wfrera
(A) O 5.25% profit

5.25% oY

(B) O 6.25% loss (Correct Answer) (Chosen option)
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(C) O 6.25% profit EXAM PREP

6.25% oIH
(D) O 5.25% loss

5.25% BT

Question No.4

Pipe A can empty a tank in 60 minutes, Pipe B can fill the same tank in 90 minutes and Pipe C can fill the same tank in 120 minutes. If all three pif
minutes will it take to fill the empty tank?
U3 A, T ¢ &1 60 e & WTell I Javdl €, UISY B I ¢ BT 90 e H 1R Wb § 3R UIRY C It ¢ Y 120 fFe § R Tohar g1 afe =i v
& B WA ¥ foran e &1 99g @
(A) O 370

370

(B) O 350
350
(C) O 380
380

(D) O 360 (Correct Answer) (Chosen option)
360

Question No.5

If it's possible to make a meaningful word from 4!, 51, 7th and 8t letters of the word APPRENTICE, then which will be the first letter of that word?
formed, M if more than 1 such word can be formed.

Tfe APPRENTICE T/eg & 19, TUied, TTad 31K 3134 31&RI J Teb rfeh Xeq ST THT ©, Ol 3T e T Ugall 31&R HIH-J1 82 fe T HIS g -
e U X T FAHTor foar o TahaT 8, At M|

(A) O X (Chosen option)
X

B)O R
R

CcorT
T

(D) O M (Correct Answer)
M

Case Study -6to 7
Directions : In the following questions, few statements are given and these statements are followed by two conclusions numbered i and ii. You ha
if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically follows -
commonly known facts.

Choose,

(A) Only (i) conclusion follows
(B) Only (ii) conclusion follows
(C) Neither (i) nor (ii) follows
(D) Both (i) and (ii) follow

(E) Either (i) or (ii) follows

Question No.6

Statements:
Some rings are necklaces.
Some necklaces are bracelets.

Conclusions:
i) Some rings are bracelets.
ii) Some necklaces are rings.

DY:

F Sifedl, TR &
FO R, THEI
-

) FS ST, H G|
i) $B BR, ST §1
(A) O ﬁ

(B) O B (Correct Answer) (Chosen option)
B
©O

C
c
OO E
E

Question No.7

Statements:
https://upprpbcivil.onlineregistrationform.org/QP4/dY mXAKO8xEX7in5ATBoXGw==.html 17/40
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All pens are sharp.

Conclusions:
i) Some pens are erasers.
ii) Some sharp are pencils.

HY:

%% O, IR@ &)
Tt U, IR B
Tt 0, TP B
faep:

i) T U, IR &

i) P JobId, IR 1
(A O ﬁ

(B) O B (Chosen option)
B

(©OC
C

(D) O D (Correct Answer)
D

Question No.8

A train travels from Bilaspur to Amristar at a speed of 92 km/hr and returns at a speed of 94 km/hr. If it takes 186 hours for total travel, then find the
Amristar. (In Km)
TS YAMSY, 92 km/hr BT 1A F FAARIGR I SRR SNt § 3R 94 km/hr B 16 § AT 311t 81 A gof amn 3 farw 186 wet o1 a9 aren 8, o faam
PITTI (km H)
(A) O 8848

8848

(B) O 8748
8748

(C) O 8648 (Correct Answer) (Chosen option)
8648

(D) O 8548
8548

Question No.9

How many times does the digit 4 appear when you count between 100 to 10007
STE 319 100 § 1000 7% A §, A 8idh 4 fra=t IR 31T 82
(A) O 280 (Correct Answer)
280
(B) O 270 (Chosen option)
270
(C) O 260
260
(D) O 275
275

Question No.10

The calendar for the year 2077 will be the same for the year:
Ty 2077 FT HeieR a & GHE BRI
(A) O 2081

2081

(B) O 2084
2084

(C) O 2083 (Correct Answer) (Chosen option)
2083

(D) O 2079
2079

Question No.11

Replace the question mark with an option that follows the same logic applied in the first pair.
DOG : PUPPY :: TIGER : ??

g & 39 fawey I ufanfia SifTe, i wem g & 9] ddb &1 38R0l $HRaT 3
DOG : PUPPY :: TIGER : 2?
(A) O FAWN

FAWN

(B) O CUB (Correct Answer) (Chosen option)
cuB
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(D) O FOAL
FOAL

Question No.12

Replace the question mark with an option that follows the same logic applied in the first pair.
STREAK : TRUSSQFDBZLJ :: EXPORTS : ??

yyferg & 39 fawed ¥ ufawnfia Hifony, S wom gm & Ay adb &7 SER0 SRl 8
STREAK : TRUSSQFDBZLJ :: EXPORTS : ??
(A) O FDYWQOPNSQUSTR (Correct Answer)
FDYWQOPNSQUSTR
(B) O FCZWQOPNSQUSTR (Chosen option)
FCZWQOPNSQUSTR
(C) O FDYWQOPNQSSUTR
FDYWQOPNQSSUTR

(D) O FDYWQPOQNSSURT
FDYWQPOQNSSURT

Question No.13

The ratio between the number of males and females in a college is 25:26. If the number of males is increased by 20% and the number of females i
new ratio of males and females in the college?

TS Hiciol § GINT 3R AfRATST 31 WA & s HT SUTd 25:26 ¢ 1 Afe GO &t T- & 20% B1 IS Biet & SR Afgansii &1 wem § 30% H gieg g
a9 &1 a1 SfuTd J1d B |
(A) O 169:157
169:157
(B) O 150:167 (Chosen option)
150:167
(C) O 169:152
169:152

(D) O 150:169 (Correct Answer)
150:169

Question No.14

Avinash and Bhuvanesh started a partnership business investing some amount in the ratio of 8 : 5. Rakesh joined them after six months with an ar
what proportion should the profit at the end of one year be distributed amount Avinash, Bhuvanesh and Rakesh?
SHETRT 3R YIAR A 8 : 5 F U & F§ M BT (A Hb Teh WIRIGRT SATIR SRY 57| 5= B: TG §18 YA & JHH AR 1 F3% b I+
SHTFTRT, Y= 3R BT & o a1 Bl b 3rura & faafa fasan S anfgee
(A) O 16:5:10
16:5:10
(B) O 10:16:5
10:16:5
(C) O 16:10:5 (Correct Answer) (Chosen option)
16:10:5
(D) O 5:10:16
5:10:16

Question No.15

A tradesman marks the price of his goods such that after allowing a discount of 25%, he earns a profit of 10%. What is the marked price of an artic
Rs.)
TS AMIRT 30 AT ST 9 YHR $ifdrd B § o 25% B e &7 & a1 f, I8 10% BT AT Ut FaT ¢ | Rs.21300 F 55T Y aTeht a¥g b Sifdd 7
(A) O 32240

32240
(B) O 34240 (Chosen option)

34240
(C) O 33240

33240

(D) O 31240 (Correct Answer)
31240

Question No.16

Select the appropriate set of sequence of mathematical operators to replace all * sign in the following equation and hence to balance it.
17*2*13* 43

frafeRad THteor & It + &1 Ui B quT 38 Tgferd B & g 10T GHRD! & SiIshH & Iugdd T Pl T DT |
17*2*13*43

AO -~

(B) O x+=

X + =

(C) O + x=(Correct Answer) (Chosen option)
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Question No.17

Directions:

Study the following Line-chart and the data provided to answer the questions that follow:

Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031. (In thousands)
Which year Company B has maximum sale?

1200

1050

500

750

600

450

300

150

0
2001 2011 2021 2031
g (O Mpany A 500 1100 Qag a00
=g Company B 1100 B30 1120 1050
g Company C 670 630 870 930

mmgee COompany A ==ge=Company B sege=Company C

mwuaﬁwﬁ$mmww-mﬁ?mmamﬁm|
few u anf 2001, 2011, 2021 3R 2031 & oW AR S arell 3-fAft= Hufar A, B 3R C Ft 5 (BIRI H)

HU B Bt Mfrmad g forg au o g32

1200

1050

500

750

600

450

300

150

o
2001 2011 2021 2031
g (O Mpany A 500 1100 Qag a00
==ge= Company B 1100 B30 1120 1050
g Company C 670 630 870 930

mmgee COompany A ==ge=Company B sege=Company C

(A) O 2021 (Correct Answer) (Chosen option)
2021

(B) O 2001
2001
(C) O 2011
2011

(D) O 2031
2031

Question No.18

X can finish a job in 143 days. He worked for 59 days alone and the remaining work was completed by Y, in 84 days. How many days would both t
job?
X T 1 BI 143 &1 H % GavelT 31 3T 59 & I 39 W sivat Hrdf fopam oiR A9 wrd 1 Y 3 84 fo & @1 fawam| 3 1 g1 wqof oo 1 @1
(A) O 695

69.5
(B) O 65.5

65.5
(C)O 675

67.5

(D) O 71.5 (Correct Answer) (Chosen option)
71.5

Question No.19

If x means -, + means %, - means + and + means +, then,54-6+4+5%x9="7
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(A) O 14
14

(B) O 20 (Correct Answer) (Chosen option)
20

(C)O 15
15

(D) O 12
12

Question No.20

There is 20% increase in an amount in 4 years at simple interest. What will be the compound interest on Rs.50500 after 2 years at the same rate ¢
TS YRR B RO STT &R W 4 IO H 20% B 3 Shelt &1 THF Mol &R W 2 I8 & 916 Rs.50500 TR I Aehdfes SIS A HioTU | (Rs. H)
(A) O 4976.25

4976.25

(B) O 5076.25 (Chosen option)
5076.25

(C) O 5176.25 (Correct Answer)
5176.25

(D) O 4876.25
4876.25

Question No.21

If 20% of 440 is x% less than 40% of 550, find x. (Up to two decimals)
& 440 BT 20%, 550 F 40% W x% HH §, A x BT A J1d BT (G SRATT I qP)
(A) O 90%
90%
(B) O 70% (Chosen option)
70%
(C)O 75%
75%
(D) O 60% (Correct Answer)
60%

Question No.22

Each question given below consists of a statement, followed by two arguments numbered | and Il. You have to decide which of the arguments is a
‘weak' argument.

Give answer:

(A) If only argument | is strong
(B) If only argument Il is strong
(C) If either | or Il is strong

(D) If neither I nor Il is strong and
(E) If both | and Il are strong.

Statement:
Does the internet need control or censorship?

Arguments:
I. Yes, it reduces Internet-related crime
11. No, children will be affected because of internet censorship.

412 3T 7T ud® Uy H U HU 7, o 91¢ | 3R 11 A YwHiferd <€) deb 12U U §1 31U Tg FAufa o1 @ 16 H1H-91 ddb T U db § iR BT

wa‘ﬁ%m:

(A) TfE Fad 76 | Ul &

(B) TfE Had ad || Y&d §
(C)afeaG ar a1 AT ad Il ved &

(D) TR AN dH | vad g qUT T & db 11 e g 3R
(E) TfE 1 3R 11 Y v B

DHY:
FIT e WR 0701 a1 SRR ) e g2

qo:
1. 8, U8 Sexic ¥ Yafid SRy &1 HH HR 5
11, T8Y, $ee YIRRY F HRUT g {1 8|

(MO D
D

(B) O A (Correct Answer) (Chosen option)
A

(C)O B
B

DO C
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Case Study - 23 to 24
Directions: Study the following pie-chart carefully to answer the given questions.
The Pie-chart shows the percentage of various brands of LED TVs sold in the year 2020.
Total number of LED TVs sold in 2020 = 1.5 lakh units.

Question No.23

Find the number of LED TVs produced by the brand Bb in 2020.
a9 2020 # S Bb ERT IdTed LED <t 31 T871 J1d S|
(A) O 35000

35000
(B) O 34500 (Correct Answer) (Chosen option)

34500

(C) O 35500
35500

(D) O 34000
34000

Question No.24

What is the difference in the number of LED TVs sold by the brand Aa and brand Dd?
S Aa 3R € Dd GRT 9 T8 LED ¢idl &t T & o9 o7 3fek 82
(A) O 1500

1500

(B) O 3000 (Correct Answer) (Chosen option)
3000

(C) O 1800
1800
(D) O 2400
2400

Question No.25

Directions:

Study the following Line-chart and the data provided to answer the questions that follow:

Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031. (In thousands)
How much percentage company B has sold more than that of company A over all the given years. (Up to two decimals)

1200

1050

900

750

600

450

300

150

o
2001 2011 2021 2031
==ge= (o mpany A 500 1100 990 800
=g Company B 1100 B30 1120 1050
=g Company C 670 630 870 930

=—g=—(Company A =—s=—=CompanyB =—g==CompanyC

ﬁumw%wéﬁ%iﬁqmmi@-msﬁ?mms{wml
fau mu anf 2001, 2011, 2021 3R 2031 F T HaTEd S= arelt 3-Afds HufET A, B 3R C BT {91 (FART H)
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1200

1050

2001 2011 2021 2031
==ge= O mpany A 500 1100 990 &00
= Company B 1100 B30 1120 1050

=== Company C 670 630 B70 930

=g COmpany A —g=—Company B e=g==CompanyC

(A) O 14.65%
14.65%
(B) O 8.17% (Correct Answer) (Chosen option)
8.17%
(C)O 2.65%
2.65%
(D) O 18.65%
18.65%

Question No.26

Find the smallest 4 digit number which if divided by 8, 9, 16, 18, 24 leaves remainder as 7.
4 i} B IEY BIE AT F1d I, SR 8, 9, 16, 18, 24 J FAHTIIT PR W IVBA 7 @1 3|
(A) O 1008

1008

(B) O 1055 (Chosen option)
1055

(C) © 1080
1080

(D) O 1015 (Correct Answer)
1015

Question No.27

Choose the correct water image of the given image from the following options.

education

education
noypoNp

nolponp
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[

" noitboubs
noitpoubs
uoitpouPs
uoitpouPs

Question No.28

(D) O

Find the next term in given series.
UNCOMPARABLE, COMPARAB, NCOMPARABL, OMPARA, ?
& T e H SATE Ug I BIOT
UNCOMPARABLE, COMPARAB, NCOMPARABL, OMPARA, ?
(A) O COMPARAB (Correct Answer) (Chosen option)
COMPARAB
(B) O PARABL
PARABL

(C) O OMPARA
OMPARA

(D) O COMPA
COMPA

Question No.29
A boat goes 300 km upstream in 60 hours and a distance of 540 km downstream in 60 hours. Find the speed of the boat in still water. (In kmph)
TS 19 60 el | 300 ke YRT B1 fAuRIT fa=m & iR 60 Hel & 540 km 4RT 1 fa=m & St 81 id oI & 19 1 A1t 71 BT (kmph H)
(A)O 6
6
(B) O 7 (Correct Answer) (Chosen option)

© O

(D) O

©w©O 0w ~N

Question No.30

N and O are in the East of M. P is in the North of N and North-West of O. Which direction of M, is P?
N3ROMPIEHEI P, N IR 3R 0P IR-UBAARI P, M I fba ez # 82
(A) O North-East (Correct Answer) (Chosen option)
IR~
(B) O South-West
SfeurufgH
(C) O North-West
IR
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Question No.31

(A) O 27501.42
27501.42

(B) O 26501.42
26501.42

(C) O 25501.42
25501.42

(D) O 24501.42 (Correct Answer) (Chosen option)
24501.42

Find the Total surface area of the hemisphere (in cm2) whose radius is 51cm and 1T = 3.14.

39 T BT ot JHT bt F1d HIoTe, et 3541 51 cm 3R 1 = 3.14 Bl (cm?2 H)

Question No.32

What should be written in the place of question mark in the given series?
C7,G14, ?, 028, S35
& S simen B g % ®IH W T R ST AR e?
C7,G14, ?, 028, S35
(A) O 120
120
(B) O 121
121
(C) O K21 (Correct Answer) (Chosen option)
K21
(D) O K20
K20

Question No.33

How many numbers up to 770 are divisible by both 3 and 5?
770 % fora- TBATY, 3 3R 5 G A fauTT §2
(A) O 42

42

(B) O 51 (Correct Answer) (Chosen option)
51

(€) O 55
55

(D) O 52
52

Question No.34

Directions:

1200

1050

900

750

600

450

300

150

o
2001 2011 2021 2031
=g Company A 500 1100 930 800
=g COmpany B 1100 B30 1120 1050
g Company C E70 630 B70 930

=g Company A =—g=Company B ==g==CompanyC

ﬁumu&r%wéﬁ%fmﬁumi@-msﬁ?mwawml
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Study the following Line-chart and the data provided to answer the questions that follow:
Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031. (In thousands)
How much percentage of sale has been increased from 2011 to 2021 for the company B?(Up to two decimal)

fau e anf 2001, 2011, 2021 3R 2031 F oW HaTEA S= el 3-fafdst Ui A, B 3R C F1 {91 (FWRT H)
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1050
900
750
600
450
300
150
o
2001 2011 2021 2031
==ge= O mpany A 500 1100 930 800
=g COmpany B 1100 B30 1120 1050
=g Company C 670 630 B70 930

=g Company A =—g==Company B ==g==CompanyC

(A) O 36.52%
36.52%
(B) O 45.26%
45.26%
(C) O 37.65%
37.65%

(D) O 34.93% (Correct Answer) (Chosen option)
34.93%

Question No.35

A mobile is sold for $7525 at a loss of 65%. What would have been the actual profit or loss percent on it, if it had been sold for $34400?
T HIERd Bl $7525 T 65% B g1 TR o<1 91T ¢ | Afe; $H $34400 F 1 711 g, & GRdfads Y a1 g1 wfa=rd & giar?
(A) O 60% loss
60% §I
(B) O 50% profit (Chosen option)
50% <Y
(C) O 60% profit (Correct Answer)
60% TH
(D) O 50% loss

50% BT

Question No.36

A number divided by 16 leaves a remainder 7. What is the remainder when the square of the same number is divided by 16?
forelt T & 16 9 fauTfra fasar Srar B, Y [t 7 381 31 5id I WRe & v i 16 | fauiira farar smem, df [vee @ g

(A)O 15
15

(B) O 1 (Correct Answer) (Chosen option)
1

(C)O 5
5

D)o 1
1

Question No.37

In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume everything in the statement to be true, th
together and decide which of them logically follows beyond a reasonable doubt from the information given in the statement.

Statement:
Only Automobiles and Auto parts, are considered as luxury goods. ABC Ltd., produces auto parts.

Conclusions:
i) ABC Ltd., doesn't produce Automobiles.
ii) ABC Ltd., produces Automobiles.

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

T U H, U HY 3R I 918 i 3R ii J WeAiferd &l Fepy U M8 &1 Y= 7 < 1S THd THBRI &1 T A §U TH 1Y ST p s IR faaR
frpy Y= T € 1S THBRT BT Igfd Weg W dlitd &9 J STHR0 HRal g1

DHYA:
Faq SffSETEd 3R 3ife) Uy &l Taert I AT T § 1 ABC fifiies, sifel uréy &1 Iare- axdr g
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frafaRad fawedl & 3 Sugad faswed g
(A) Faa FeY | 3TERUT BT §
(B) I B i STERUT Bl
(C) T st | AT i STEROT Bl B
(D) 71 & Fspef § 3R 7 i SFTTRTT BT B
(E) 31 Feap i 3R i SFERUT R &
(A) O B (Chosen option)

B
(B) O C (Correct Answer)
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() O

D)O

>>» 00 O

Question No.38

A person invested Rs.23500 divided into two different schemes A and B at S.I of 12.5% and 15%. If the total amount of the simple interest earned
amount invested in scheme A. (In Rs.)

T R 7 Rs.23500 DI fIHTRIT PR &l TSI3H A 3R B H 12.5% TUT 15% JTYRUN &1 R HafRrd foam| afe 2 auf & IruRo o & w0 § Ui
AR & M2 (Rs. H)
(A) O 8000

8000

(B) O 7000 (Correct Answer) (Chosen option)
7000

(C) O 6500
6500
(D) O 7500
7500

Question No.39

What value should come in the place of question mark (?) in the following question?

V12.96 x v29.16 +~ v/7.29 x V51.84 =7

fFrafafad uy & uyaree g (2) & W R 1 9E S e

V12.96 x v29.16 +~ V7.29 x V/51.84 =?

(A) O 29.16
29.16

(B) O 45.65 (Chosen option)
45.65

(C) O 51.84 (Correct Answer)
51.84

(D) O 12.96
12.96

Question No.40

Solve:

96+[47+{93+3 -(15+80+10)
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96+[47+{93+3 -(15+80+10)

MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING - MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING

Question No.1

Find the wrong term in the given series.
87,76, 85, 75, 83, 80
& T aar § 7Tdd Ug 1d HR
87,76, 85, 75, 83, 80
(A) O 85
85
(B)O 83
83
(C) O 75 (Correct Answer) (Chosen option)
75
(D)O 76
76

Question No.2

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
L,J, R, V,W

Uig H ¥ IR Ue FAfYd 0§ 99 § ofd: U6 9Hg 9910 ¢ | T90 ¥ $IF-91 39 I4g I Jafid 761 82
L J, R V,W

(A)O

(B) O

<< rrr

(C) O J (Chosen option)

(D) O

(Correct Answer)

== <

Question No.3

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
feu T fasmedl B ¥ SRITTa ea/ARAN/3MER i aTd fadhed BT 9o HifoTd |
(A) O Auditor

Auditor

(B) O Doctor
Doctor

(C) O Profession (Correct Answer) (Chosen option)
Profession

(D) O Engineer
Engineer

Question No.4

Read the following statements and answer the following question.

M5N means M is the mother of N
M4N means M is the father of N
M6N means M is the son of N
M8N means M is the daughter of N

https://upprpbcivil.onlineregistrationform.org/QP4/dY mXAKO8xEX7in5ATBoXGw==.html
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In the equation P5Q4R8S, How is S related to P?

ProfRifad Hul 31 a2 ok PEfifad vy o1 3w EXAM PREP
M5N &7 3Rf g M, NPT AT

M4N BT 3 g M, N &1 T

M6N T 31 & M, N BT SeT @

M8N &1 3f g M, NPT 3t &

B0 P5Q4RSS H, S BT P I o1 HaiY 37
(A) O Daughter
M|

(B) O Niece
RIS
(C) O Daughter-in-law (Correct Answer) (Chosen option)

qA-aY
(D) O Cousin
EaEl

Question No.5

Find the next number in the series.
10 7,11, 30,117, ?
F STeht e I AR
10,7, 11, 30, 117, ?
(A) O 582 (Correct Answer)
582
(B) O 538
538
(C) O 583 (Chosen option)
583
(D) O 528
528

Question No.6

What is the fullform of "ITBP", a Central Armed Police Forces (CAPF)?
meaﬁ(xﬁqﬁw) "3mg A& (1ITBP) &1 QU U F1 82
(A) O Indlan Trafficking Branch Police

amgf%m (Indian Trafficking Branch Police)
B) O Indo Thalland Border Police

ur{ﬁgalé?gﬁm (Indo-Thailand Border Police)

(C)O Indlan Technical Branch Police

Wgﬁﬂf (Indian Technical Branch Police)
(D) O Indo-Tibetan Border Police (Correct Answer) (Chosen option)

E‘Ié?g'm (Indo-Tibetan Border Police)

Question No.7

Find the odd image out in the given series.

42 32 24 30

(1) (2) (3) (4)
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Q
42 32 24 30
(1) (2) (3) (4)
A)O 2
2
B) O 4
4

(C) O 1 (Correct Answer) (Chosen option)
1

D)o 3
3

Question No.8

Find the next number in the series.

797, 698, 574, 425, 251, ?

SRGA H STl T 1 Do |

797, 698, 574, 425, 251, ?

(A) O 50
50

(B) O 52 (Correct Answer) (Chosen option)
52

(C)O 49
49

(D) O 51
51

Question No.9

A lady started from her house and walked 5km in South direction; took a right turn and walked 12km in that direction and finally walked 4km and re
left. In which direction is the house from the destination?

TS Al 307 TR F I Y= g3 3R SI0r fG= H 5 km Teft; ST Geohr 39 fa=mm & 12km et 3R 3id F 4km Tl 3R STUHR G & TG Taed d
(A) O South-West (Chosen option)
feror-afim
(B) O South-East
afamrgd
(C) O North-West
JR-UEH
(D) O North-East (Correct Answer)
SW-gd

Question No.10

If in the number sequence 96312597621 8, all the odd numbers are decreased by one and all the even numbers are increased by one, then
arranged in ascending order, which will be the ninth number from the left?

I TS 3AHH 9631259762 18 wft fawy Temsit & F U et fan Srar g 3R Tt wn TRemsit & e St oiran 7, fOhR U e sy &
T2 SR Y Id RIF WS-8 H&AT gf?

(A)O 8
8

B)O 2
2

(C) O 7 (Correct Answer) (Chosen option)
7

d)O 0
0

Question No.11

In a dice, each face is colored as follows:
1) Black is adjacent to Green

2) Green is opposite to Yellow

3) Pink is opposite to Blue

4) Red is adjacent to green

Which of the following is definitely true?
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B) Black is adjacent to Red EXAM PREP

C) Green is Between Black and Red
D) Yellow is between Green and Pink

T IR H, Ud® Had S 9 0 I TR
1) HTAT, TR P AAbe §

2) &3, Tiel & faudid &

3) Tare, Fie & fIudia §

4) T, R P gawpe g

fafafed § @ oH-91 HyF Fifd U ga 82
A) BT, fd IR F ST A

B) S, Il P F3de &

C)T, BASR AT S MTH T

D) e, &% 3R el b S 7 g

(A) O ﬁ

B)O b
D

(C) O B (Chosen option)
B

(D) O C (Correct Answer)
C

Question No.12

A box containing the denominations of one rupee coins, five rupee coins and ten rupee coins amount to Rs.1360. There are equal number of coins
number of five rupee coins in the box?
% S B U ©UT, UF 30T 3R 9 ST &S JeoadT & [ § foFa! $a IR Rs.1360 81 Tt Heoami & Ry~ a_7eR e & 8| afaw & uig I
(A) O 85 (Correct Answer)

85

(B)O 84
84

(C) O 82 (Chosen option)
82

(D) O 81
81

Question No.13

Which article of the Indian Constitution lays down that "the state shall endeavour to secure a Uniform Civil Code for the citizens throughout the terr
YR W & forw oy g # Fuia & 6 <1, 97 uRdla &7 & Amiiest & forg g Aries St &1 WRiE 37 &1 7 Sem?
(A) O Article 40
37 T 40
(B) O Atrticle 51A (Chosen option)
37 "T51A
(C) O Article 44 (Correct Answer)
37 "q a4
(D) O Atrticle 32
3] "T 32

Question No.14

In a certain code language, if PIRATE is coded as ATEPIR, then how is SECRET coded in that language?
% fAfyd e W &, I PIRATE &1 ATEPIR % %0 § Geag a1 ST 8, Y 39 YW § SECRET & ¥ Hedg (T STurm?
(A) O RETSEC (Correct Answer) (Chosen option)

RETSEC

(B) O RTEESC
RTEESC

(C) O CESTER
CESTER

(D) O ESRCTE
ESRCTE

Question No.15

Read the information carefully and answer the following question.

A+B means A is the father of B
A-B means A is the mother of B
A*B means A is the sister of B

A/B means A is the brother of B

In the given expression M+N*O/P, how is N related to P's brother?

& TS TSR B WY Ug SR i 3T e vy BT 3w
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ABHTSE, A BIITET8
AB ST B, A BB HE

faq 71U ol M+N*O/P H, N BT P & HTS ¥ o1 JaiY 872

(A) O Father
O
(B) O Brother

(C) O Sister (Correct Answer) (Chosen option)
B4

(D) O Mother
Af

Question No.16

Who is the Supreme Commander of the Indian Armed Forces?
YR TR Sl & Hared HHSY PH I 82
(A) O Chief of Defence Staff
& T (i 3 fetha )
(B) O President of India (Correct Answer) (Chosen option)
HRA & 1_ufa
(C) O Chief of Army Staff
YT (A 3T T weT)
(D) O Prime Minister of India
HRA & Uy HA

Question No.17

In the following question, some symbols are represented by letters as shown below: 'A’ means +, 'B' means -, 'D' means %, 'E' means +, 'C' means
Which of the following expressions is correct?

fofated oy ¥, 5o el &t 1 i e SRt grr gxfar g A BT i g +, B BT I G -, D HT 3 x, B BTG +, 'O BTG =
Frafad # § SH-a1 o 9l 22
(A) O 32E8A15D6C30
32E8A15D6C30
(B) O 28E8AS5D2C34 (Chosen option)
28E8A5D2C34

(C) O 32DBA5E6C34
32D8A5E6C34

(D) O 32E8A5D6C34 (Correct Answer)
32E8A5D6C34

Question No.18

Pointing to a boy, a lady said, " He is the son of my grandmother's only child's husband's only daughter's husband." How is the lady related to the t
TH TS DI 3R S B §U, U Al 3 FgT, "a8 TR} ASHR B gdHarialt T & Ul B 3balial 9t & Ul BT 9eT1 71" Afel BT dsdb o o1 Jafe
(A) O Aunt

3fic
(B) O Mother (Correct Answer) (Chosen option)

|t
(C) O Sister

Chal
(D) O Grandmother

Question No.19

A man walks 4km towards East; turns right and walks 6km and turns another right and walks 4km. He then turns right and walks 6km; takes a left {
8km towards South; turns left and walks 3km and finally turns right and walks 1km. How far is he from the starting point?
TS HTCH gd BT 3R 4km TSI §; ST TS § 3R 6km AT & AR U IR 3R 2T GSdT & 3R 4km Tl 81 98 5= ST¢ g1 § 3R 6km A 8;
ST Y 3R 8km AT &; WW%ﬁa;km AT § 3R 3 A ST GSaT § 3R 1km TeTa 81 I8 FoorTe g ¥ frat gr 82
(A) O 11km

11km

(B) O 12km (Chosen option)
12km

(C) O 9km (Correct Answer)
9km

(D) O 8km
8km
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In this question, relationship between different elements is shown in the statement. This statement is fi Y tWo conciusions:

Statement:
E<Q=U>A=2T=1<0<N

Conclusions:
iyA>1
i)O>A

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

T Uy #, Y9 ¥ fIfta 9t & i 9y Sxfar T 81 59 $YA & 916 o) Frepd g e §:

DY
E<Q=U>A2T=1<0<N

fored:
A > 1|
iyO>A

frafared fawedl & & Suged fawed I
(A) Fadt FIpY | SFTIR0T BT §
(B) Fact FIHY i SR Rl §
(C) a1 a fepy | a7 e i SRR R §
(D) 7 € s i 3R 7 Fh i SR Rl §
(E) T Fem i TR I i S1gR0T Rl
(A) O D (Correct Answer)

D

(B) O

(Chosen option)

A
A
(O ¢
C
(D)O B
B

Question No.21

Which of the following numbers in the Venn Diagram represents only rich men?

(A)O 3
3

B)O 4
4
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(D) O 2 (Correct Answer) (Chosen option)
2

Question No.22

If every alternate letter starting from the left end of the word ADULTERATION is written in small letters, rest all are written in capital letters, the nev
letter will be seventh to the right of the letter fourth from the left?

gf& ADULTERATION ¥7eg & ST¢ SR ¥ L= 811 aTdl T GuR 31&R HI BIC (small) 31eRT T ferar 71 8, a1t Tuft &1 9 (capital) 31ert & forar man i
foran T §, @ HIF-NT 31&R ST W Y &R & 1Y Jradt g2
(A) O t

t

B)YO u
u

(C) O D (Correct Answer) (Chosen option)
D

D)o A
A

Question No.23

Which of the following is the full form of '"AFSPA', is an act of Parliament of India?
fofafad & § SH-91 T.U% G0 T (AFSPA) &1 U1 0 g, S HRd &t T9g &1 Us HAffaw g2
(A) O The Armed Forces (Special Provinces) Act,1958 (Chosen option)
T IS BRI (W MdR) Tae, 1958
(B) O The Armed Forces (Special Powers) Act, 1958 (Correct Answer)
T TS BT (TR UTa) Tae, 1958
(C) O The Armed forces (Scheduled Provinces) Act, 1958
T 3T BRI (Rreyes Mfafm) tae, 1958
(D) O The Armed Forces (Special Provisions) Act, 1958
T 3T I (WIS Wfdsiel) Tae, 1958

Question No.24

In a class of 25 students, a boy is ranked 10, When 3 boys joined, his rank was dropped by one. What is his new rank from the last?
25 faenffal @t ue wen o, b dsP BT RIM 10a1 §1 5d 3 ASP SR WA &l S §, STBT ™I Ueh HH g ST ¢ | 316 37d J I 701 RJF T g2
(A) O 18 (Correct Answer)
18
(B) O 22
22
(C)O 16
16
(D) O 20 (Chosen option)
20

Question No.25

How many such 7s are there in the following number sequence which are immediately preceded by 5?
97234571357489764577957

frofafad g srwd o T fosam 7 § o 3t ued 5 82
97234571357489764577957

(A) O three

(B) O four (Correct Answer) (Chosen option)
IR

(C)O fiye
EIE]

(D) O six
B

Question No.26

Panchayat Extension to Scheduled Areas (PESA) Act 1996 was enacted based on the recommendation of which of the following committees?
frafafea o 9 foa afifa o R & snuR W, sy &3 & dard fawdR (PESA) SififFam 1996 sifefafir fasar war ar?

(A) O Kasturirangan Committee

(B) O C. Rangarajan Committee (Chosen option)
T, TRTe wfHfd

(C) O Bhuria Committee (Correct Answer)

(D) O Mandal Committee
Hed afffd
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Question No.27

Which schedule of the Indian Constitution provides for the administration of tribal areas of "Assam, Meghalaya, Tripura and Mizoram"?
YR TRAYM B S-S 3w, Harad, IR 3R fireiRe & snfeardt &=t & u=meH ¥ Fafdd 82
(A) O 6th schedule (Correct Answer) (Chosen option)

(B) O 7t schedule
GSIGEiT
(C) O 4t schedule

ERIEECC

(D) O st schedule

Question No.28

How many squares are there in the given figure?

A S ampfa § fbam @i 82

(A) O 24
24

(B) O 21 (Correct Answer) (Chosen option)
21

(©)O 20
20

(D) O 18
18
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Replace the question mark with an option that follows the same logic applied in the first pair.
Denounce : Bless :: Vituperate : ??

Uy & 39 fawey I vfarnfia Sifore, S v g o @] ddb &1 S8R0l Rl g
Denounce : Bless :: Vituperate : ??
(A) O Attack
Attack
(B) O Insult (Chosen option)
Insult
(C) O Abuse
Abuse

(D) O Praise (Correct Answer)
Praise

Question No.30

Which of the following numbers in the Venn Diagram represents strong and bold women?

(A) O 4 (Correct Answer) (Chosen option)
B)O
€O

(D) O

OO NN NN A

Question No.31

Which one of the following alternatives will perfectly complete the given figure?
" &1

fofafed & & eH-a1 fawe 718 sipfa & 378 wu I guf Ham?

ra

(A) O
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B)O
%
%
(©)O
DO)O
ﬁ (Correct Answer) (Chosen option)

Question No.32

Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?
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(1), (2), 3), (4) F =U & Tegiferd, Fufafed # § HH-4 33, < 7S Jaar & fow el 33 grfie

(4)

A

a

Y

(D)O 4
4

(Correct Answer) (Chosen option)

BYJU'S

Question No.33
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Atharva's father Magesh's brother Jayanthan's only son Mithran's mother is Priya. How is Atharva(Male) relate: ha,
3yd 3 fOrdT 7R & WIS STEHTA & Sohalid o fHrRor ot A frar 81 3ryd (g9W) T STy § o7 ey 872
(A) O Niece
B
(B) O Nephew (Correct Answer) (Chosen option)
(C) O Brother

(D) O Sister
EER|

Question No.34

Replace the question mark with an option that follows the same logic applied in the first pair.
29:900::8: ?
gl &Y 39 facey I Hfafid &Y o uget g & Ary ad BT SFER0 HRT 5|
29:900::8: ?
(A) O 16
16
(B) O 81 (Correct Answer) (Chosen option)
81
(C) O 100
100
(D) O 225
225

Question No.35

In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based on the given pa:

The Delhi Police is working on several projects based on cutting-edge technology to improve traffic management system in the city and check erra
be the first in the country to have an Intelligence Traffic Management System (ITMS) The Delhi Police is planning to install a 3D radar-based Red |
(RLVD) system at 24 junctions across the city to monitor people jumping the red light. With this project, automatic issuance of notices will be sent t
effective prosecution.

This year, the Delhi Police are also going to install gantry-mounted radar-based Over Speed Detection System at 100 locations on major roads. It\
to over-speeding. Also, a new e-challan system will be implemented in collaboration with the National Informatics Centre to ensure transparent pro
help in building database of repeat offenders. It will also ensure online facility for officers to ascertain the previous history of traffic violators.

Statement:
The Delhi police wants to upgrade the Traffic Management System in the city.

Choose the appropriate one from the following options
A - The statement is definitely true.

B - The statement is probably true.

C - The statement cannot be determined.

D - The statement is definitely false.

T UY ¥, TP TR F 91¢ TP HU f3ar Tar B 1 TR B eargdes ue ok fIT T e & 3TUR WR HUA $T SHA B |

ﬁwﬁmwﬁwwwwn?ﬁﬁéma?ﬁﬁws@ﬁmﬁ%%wﬁaﬂwwwmaﬁmﬁmm
Ugel gier g1 o ey Seferiy ithes Ao Ried (3.1 tr.uw.) 8| fowdt gfera 37 @i iR FRt Tem & fare, ot o &<t 7 Seaied &
wmﬁﬁma@m%ﬁwm(mmﬁ@)ﬁwwﬁaﬁmmm@%sﬂuﬁrﬂ%wu THTET RIS & ol T TH.T. &
Tqaferd Aifew SRt far S|

3 oY, el 4ferd TR Tl IR 100 RIA R A 1-A15ES TSR-MUTRT 3ok WS feamr Rien wiftd w3 o1 W& &1 I8 3 i & HRor g
AT WY Wﬁmuﬂaﬁ@wgﬁ@aﬁ%ﬁquhwm ORI &g & TganT Y U s s-ara orett oft ang &t Seft | gorme
ey & i & Heg Bl U granTd Seusdial b fwe Sierd o1 udl et & g Siftieiidl & g aifers gfaer oft gz sf

DY
facelt gfer 2rex & aTamTd ey yomet § GUR HRAT A8 8|

fFrafeRed faeedl # & Suged fased g
A-aw:iﬁ@aw%w%

B- ®Y YHdd: I B

C- Y Futfa 78t fovam <1 g
D-&Y Afyd TU q 3 B

(A) O B

(B) O A (Correct Answer) (Chosen option)
A

© 0

B
B
Oyo ¢C
C

Question No.36
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Find the next term in the given series. EXAM PREP

40, 200, 80, 400, 160, ? _
& TS YRgel H 3T US T1d Hi |
40, 200, 80, 400, 160, ?
(A) O 200

200
(B) O 64

64
(C)O 320

320

(D) O 800 (Correct Answer) (Chosen option)
800

Question No.37

In which one of the following Union Ministries, the census organisation has been functioning on a permanent footing since 19617
frafeaRad o @ forg Feffa Harer o, SFRTOMAT W16 1961 § R &0 4 1 aR W7 872
(A) O Ministry of Home Affairs (Correct Answer)

g HATeTg
(B) O Ministry of Health and Family Welfare

WY 3R URAR HToT HATe
(C) O Ministry of Social Justice and Empowerment

Y 3R SHfYHTRAT T

(D) O Ministry of Human Resource Development (Chosen option)

g ITeH fae™ g

Question No.38
If the last fifteen letters of the English alphabet series is reversed, which of the following will be the seventh to the right of the fifth letter from the let
Ife; 3P quimTen Saar & 3ifad Uge seR Hohd H ford 1 §, Y 91 B3R | Ui $1eR & aTs 3R Iad M R g & J HIF-71 g
AOY
Y
(B) O J (Chosen option)
J
(C) O Z (Correct Answer)
z

(D)O K
K

Question No.39

H is in the middle of a row where he is 23" from the left. What is the total number of persons in the row?
H T Ufdd & A & § o161 98 18 § 233 RF W 1 Ufad & aafaal 3t g I &1 82
(A) O 45 (Correct Answer) (Chosen option)
45
(B) O 43
43
(C)O 42
42

(D) O 44
44

Question No.40

In a certain code language, if STONE is coded as WVMHQ, then how is THING coded in that language?
% Ffyd B W H, I STONE & WYMHQ & U H Heds [l 9l ©, @ S8 HTNT & THING $T &8l Hede bl Se?
(A) O JwalQ
JWGIQ
(B) O KVGIQ (Chosen option)
KVGIQ
(C) O KWGJQ (Correct Answer)
KWGJQ
(D) O JvGJQ
JVGJQ
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